A+ | S.70-6.00 B+ | 4.70-5.00 C+ | 3.70-3.00 D+ | 2.70-2.00 FI0.00-1.99
—1 — 13- — 4— —
- = 1
A 5.30-5.69 B 4.30-4.69 C 3.30-3.69 D 2.30-2.69 *Srudent needs a C- or
1 1 = 1 1 hieher to move on to the
A- | 5.00-5.29 B- | 4.00-4.29 C- | 3.00-3.29 D- 2.00-2.29 neit course.
| . i

6 Excellent Understanding (A+) —> (DO /o

My work shows excellent understanding of mathematical concepts,

Data analyses and explanations demonstrate a high level of reasoning.
Student thinking: I completely understand this and could do 20 more just like this. I could apply this same concept in a new

way. My explanation goes above and beyond to include important vocabulary and Justification for my thinking.
5 Strong Understanding)(A) ——> ﬂo O/
My work shows strong understanding of mathematical concepts, principles,

Data analyses and explanations demonstrate 2 high level of reasoning.
Student thinking: I completely understand this and could do 20 more just like this. I got the correct answer, but I am

missing a prece, unit, label, etc. My explanation has all important voca bulary and provides evidence of my thinking.
4 Good Understanding (B) ——> BOD/O
My work shows good understanding of mathematical concepts, principles,
Data analyses and explanations demonstrate sound reasoning.

Student thinking: I understand the process but when I do it on my own I make a simple mistake. My explanation is

missing voca bulary but clearly describes the situation.

'3 Basic Understanding (C) —> )D /0

My work shows basic understanding of mathematical concepts,
kes assertions that are incompletely substantiated.

it on my own I make multzple mistakes or leave out steps. My

principles, and their inter-relationships.

and their inter-relationships.

and their inter-relationships.

principles, and their inter-relationships.

Work states facts, draws conclusions, or ma

Student thinking: 1 understand the process but when I do

e@lanatz’on is missing key in forma tion but includes some of the necessary elements.

2 Limited Understanding ¢ (D) — (_0 0 D/o

mited knowledge of mathematical concepts, principles and their inter-relationships.
ly demonstrated, but evidence of an understanding of broad concepts is lacking.

I’'m getting there but I need some more practice on this concept. My

My work shows li
Some mathematics may be correct
Student thinking: I can start but then I get stuck.

explanation is incomplete. -
1 Minimal Understanding (F) 60 /o

My work shows minimal knowledge of mathematical concepts and does not provide evidence of an understanding

of individual facts, concepts, Of their interrelationships.
id not show any evidence of my thinking.

[’m not even sure bow to start the problem.

OR the answer is correct butld

Student thinking: I tried, but 1 need a lot of belp on this!
0 Left Question Blank/ Recopied the Question’ —2 4/.0 °0

®
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Functions

4
A relationship between inputs and outputs i@there is exactly one output for each

——

input. Functions are often written as y = (some expression involving x), where x is the.input

q v ‘ ) V\L‘h and y is the output. The following equation, table, and graph represent the same function.
Y & 3 5
3 6) " y=(x-2)

Ua‘i’%ldl(’. NI A
man (/&(holq y |16 | 9 | 4 1 0 1 4 | 9

o
)
NN
N

The set of possible input values for a function is called (Ee domain: >l his set contains every
x-value for which the function is defined. The domain of the function above is all real

numbers. .
Y b a function is the set of possible output values. This set contains every y-value
that the function can generate. As the graph shows, the minimum value of the function occurs

«Fv n (/h OV\ at the vertex, where y = 0. So the range of the function above is y 2 0.
8 | 0\ 0 M&\ﬂ i Another way to write a function is with the nota w tead x=35
o of "y =". The function named “f" has output f{x). TS X.

AN

r In the example at right, f{5) = 9. The inputis 5 and the outputis 9. ' ,___\
| 'FVV\,&\ on V\m‘h Dh You read this as, “fof 5 equals 9.” ,

I || fix)=(x-2)

X x?+y?=1is nota function because there are two y-values (outputs)
for some x-values, as shown below.

y
2.,

2 2

X" +y =1

| 1] 0] 01 i <

| = 2

b
"y 0 [<1] 110

N\

1
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